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Question No. 1
g & o & IR AT Tl & TAT TR § TR 35 ST Y AT Fgl SNl §72
A)3ifFarg (Afflux) B)sfr &8
C)31f#TSsT (Scour) D) fFerais

The heading up of water above its normal level while passing under the bridge is known as-

A) Afflux B) Free board
C)Scour D)Clearance
Answer Key : A Your Response : A (Correct)

Question No. 2

AT T (passive sensor) T 39T T
A)TrafAe TRl ¥ fAeoe arer [{eatar B)SHI 39T Fail BT &idT &
C)Fall i & &7 # ¥ D)3l & Hd & & & Foll ABC T

A passive sensor uses:

A)Signals emitted from transmission towers B)Its own source of energy
C)Sun as the source of energy D)Flash light as a source of energy
Answer Key : C Your Response : C (Correct)

Question No. 3

fmfaf@a F & Fia a1 egasiss e vaSivwdr (HDFC) 3% ganr i fmar arr ar?
A)AIIT B)IRA 2.0
C)KEMPA D)MITRA

Which of the following humanoid robots was developed by the HDFC bank?

A)AJIT B)IRA 2.0
C)KEMPA D)MITRA
Answer Key : B Your Response : Not Answered

Question No. 4
IR (moorings) FIT Y& fFT Srer 82
A)STETSIr &hr ThiRer & forw B)Sfersit 3R fRrualst & gors & faw
C)stersit 1 Wiae Tig & & o & fav D)SigrSit &l AFAd & foiT

Why are moorings provided?

A)For anchoring of ships B) For washing of ships and ship boards
C)For towing the ships to the sea D)For repair of ships
Answer Key : A Your Response : Not Answered

Question No. 5
frdr ager A T (column) F T F fBoger W §HY, 3ifaswr BUfaAr (end conditions) -
A)Teh TRT Tthere g1aT & 3R q@Rr far am gl 81 B)aket R fiherw gl €1 Top
C)ush faRT ftherq gl & 3R q@<r fORT Gelr 11 €1 D)alet Y hesil & wA gl &
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While designing the pile as a column, the end conditions adopted is -

A)One end fixed and other end hinged B) Both ends fixed
C)One end fixed and other end free D)Both ends hinged
Answer Key : A Your Response : C (Wrong)

Question No. 6
fArfaf@a & ¥ #la & FAE TRT Wiee (text font) F wIfAT 7T Far &7
INEIESS B)gcfars
C)sles D)37sTeligeT

Which of the following commands does not affect the text font?

A)Borders B) Italics
C)Bold D)Underline
Answer Key : A Your Response : D (Wrong)

Question No. 7

fArfaf@a & ¥ fFea aRa F 239 q&F AT IGFT F T 7 THR T80T Far?
A)Te Sy B)geirel 3RSt
C)3re AR A D)3 H Sehrer Tdad

Who among the following assumed charge as the 23rd Chief Election Commissioner of India?

A)Nasim Zaidi B) Sunil Arora
C)Achal Kumar Jyoti D)Om Prakash Rawat
Answer Key : B Your Response : B (Correct)

Question No. 8
o7 #g s, qEt fis A Tag W ohar ¢, ar sH afey 1 AT FE@ arer I F FAT FgT AT 82
A)sedle TY0T (Rolling friction) B)ERdega u¥uT (Electrostatic friction)
C)Tdt &¥ur (Sliding friction) D)¥dfae avur (Static friction)

When one body rolls over the surface
of another body, the resistance to its
motion is called-

A)Rolling friction B) Electrostatic friction
C)Sliding friction D)Static friction
Answer Key : A Your Response : A (Correct)

Question No. 9

gl § FieT AT YT T §?

RS AT qHL-

A)IT & 45° feam F HfWFdHA gt gl B)3d® Il o TAIR feem & ifRFan g gl
C)Tefr feemstt & gaART g B D) & oidgad feem & 3f¥ead g &1

Which of the following is the correct statement?

Top
The strength of timber :
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A)ls maximum in the direction 45° to the grain B)Is maximum in the direction parallel to the grain

C)Remains same in all directions D)Is maximum in the direction perpendicular to the
grain

Answer Key : B Your Response : B (Correct)

Question No. 10
qAF & NG T 3EgTT a0 & fov Flr Ager W Rya aa7 FF gwlRd &= & v v [ffse awr
e W 39 fagga T AT A aafhar # =T Fer S 82

A)7gger R#Are EfFer (Neutral remote sensing) B)R&Are AT (Remote sensing)
C)afsra R#Are ATAIT (Active remote sensing) D)ATSha RATe JTAT (Passive remote sensing)

The interaction of the electromagnetic radiation produced with a specific wave length to illuminate a target

on the terrain for studying its scattered radiance, is called:

A)Neutral remote sensing B) Remote sensing
C)Active remote sensing D)Passive remote sensing
Answer Key : C Your Response : B (Wrong)

Question No. 11

afg ey @& g, o 93T A @ 9T g T Yalg Yo (laminar) g
A)> 2000 B)< 4000
C)> 4000 D)< 2000

If Reynolds number is , then the flow of fluid through a pipe is laminar.

A)> 2000 B)< 4000
C)> 4000 D)< 2000
Answer Key : D Your Response : D (Correct)

Question No. 12

¥ FNOT gy A THGW N HHN 3R Rl w1 §

A)ERdegd ool B)Iecdry Sl
C)argarfash el (Aerodynamic force) D)=ATfHRT Fel

The electric charges attract and repel each other due to-

A)Electrostatic force B) Gravitational force
C) Aerodynamic force D)Nuclear force
Answer Key : A Your Response : A (Correct)

Question No. 13

ar a1 ar & 3310% a9 arer PRET (girders) FT AT Fgl AT §7

A)cere faREX(girder) B)dfed fAR=R(girder)
C)I=¢r AR=(girder) D)seivs fTRE(girder)

The girders having two or more than two webs are called -

A)Plate girder B) Box girder
C)Gantry girder D)Balanced girder
Answer Key : B Your Response : Not Answered

uestion No. 14
9 Top

g S aw w9 AART ST 82
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A)24 AT B)26 AT
C)20 AT D)22 AR

World water day is observed on -

A)March 24 B)March 26
C)March 20 D)March 22
Answer Key : D Your Response : D (Correct)

Question No. 15

[ THR & e gl 4, o aF @ 3R Fua 6 aow F Ao Gif F e § = w=oFw

ST 82
A)BR 33T 95T IR B)3iTR ST ursel giga}
C)grsgifeleh dIsel 38al D)CFA - &&eg3rd Fellse 3R

The old type of Pile Driving Equipment which is banned in most countries due to heavy sound and vibration

is called as -

A)Hammer Driven Pile Driver B) Augur Boring Pile Driver

C)Hydraulic Pile Driver D)CFA - Continuous Flight Augur

Answer Key : A Your Response : Not Answered
Question No. 16

IAQ T 31 & 87

A)SEARTR 3fhcaFael FaTferer B)SEIRAX Wehvieriaiar ararfordr

C)g8R TIX Farferer D)38R R Faifeedr

IAQ means -

A)Interior Architectural Quality B) Interior Airconditioning Quality

C)Indoor Air Quality D)Indoor Air Quantity

Answer Key : C Your Response : C (Correct)
Question No. 17

FRC # Yg&d BB & ot gr ST B

A)gfadae gaele (Secondary reinforcements) B)Re# fz=mRide

C)&1 waei=l (Slender reinforcements) D)gR Js=hidec

Fibres used in FRC are also called as -

A)Secondary reinforcements B) Slim reinforcements
C)Slender reinforcements D)Super reinforcements
Answer Key : A Your Response : C (Wrong)

Question No. 18
M s & 0T F fAT wed Wafcdsr YR #T R Foe & FiT AT g2
A)STT R B)VSI| &R
C)TT W D)@l R

The best type of crusher for manufacturing M Sand is -
A)Jaw Crusher B)VSI Crusher
C)Roll Crusher D)Cone Crusher

Top
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Answer Key : B Your Response : Not Answered

Question No. 19

HRT & Tgo IU-TUAHAT it A7
A)RITAT 3Tel Fhelld 3TTSlle B)B.R. 385
C)®eR Felca g D)TER ToolddTs ucol

Who was the first Deputy Prime Minister of India?

A)Maulana Abul Kalam Azad B)B.R. Ambedkar
C)Sardar Baldev Singh D)Sardar Vallabhbhai Patel
Answer Key : D Your Response : D (Correct)

Question No. 20
were it Aftwad Farg s ¥ P ¥ qanT ¥ fFr ST 87
A)(u? sin2a)/2g B)(u? cos?a)/2g
C)(u? sin2a)/g D)(u? cos2a)/2g

The maximum height of a projectile is given by-

A)(u? sinZa)/2g B) (u? cos?a)/2g
C)(u? sin2a)/g D)(u® cos2a)/2g
Answer Key : A Your Response : A (Correct)

Question No. 21
g% Fafdaae Fa, O W & 3T ve o5 f B3 @ §, O Predt o Rigat & < ve wad @ (smooth
curve) Wa ¥ AT AR ¥ AST ST GhaT §, 3W FAT Hal AT 87
A)¥T FFRR B)FT Fa
C)&hel D)f3arsst

A flexible curve consists of a lead bar inside rubber which bends conveniently to draw a smooth curve
through any set of points. Which of the following drawing aid is this?

A)Set square B) French curves
C)Scale D)Divider
Answer Key : B Your Response : B (Correct)

Question No. 22

&Y 3T THT (trusses) F &I FT T FgelraT gl
A)TYST (Span) B)d=TeT (Panel)
C)R=r (Pitch) D)¥ (Bay)

The space between two adjacent trusses is called-

A)Span B) Panel
C)Pitch D)Bay
Answer Key : D Your Response : B (Wrong)

Question No. 23
FE T°F & 3aias 7 e, I IR AR F ST ua gar 82
A)ad 3 B)ad 1

C)ast 4 D)ger 2 Top
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In which of the classes of lever is fulcrum placed between effort and load?

A)Class 3 B)Class 1
C)Class 4 D)Class 2
Answer Key : B Your Response : Not Answered

Question No. 24
fAmfaf@a F & i ar gRefadr dam (utility program) T 3emeor 872
A)TEaRRE ArFea] B)WISel Shevere
C)fashedi & & Tefr D)seasdh HeloR

Which of the following is/are an example of utility program?

A) Antivirus software B) File Compression
C)All of the options D)Network Managers
Answer Key : C Your Response : Not Answered

Question No. 25
RMC @ET & didie 3l war$ vr 3R 3 Wiie g afal i §ala e & fAT wged 98 3R &
e AT SaaR FERT Fr AT FET 1T 8?2
A)fATER B)&L Fedd
C)arsar D)Th

The large steel cylindrical metal containers used in RMC plants used for storing cement and/or fly ash and
such cementitious materials are named as -

A)Mixer B) Screw Conveyor
C)Silo D)Scraper
Answer Key : C Your Response : A (Wrong)

Question No. 26
Rt Tse fr A # @ W &1 I WA AT IRIFIT k 3H1$ AR g Wa & gRear 5k sw$ §1 afg
gt Wt fr Aleg FAE §, o FtarR rr & e gRewar sa fifSw)
A)3k 3HE B)(5/3) k 3&1S
C)(5/6) k 1S D)(6/5) k S&TS

Soil at a site consists of two layers. The top layer has permeability k units and bottom layer has permeability
5k units. If the thickness of both the layers is equal, then what is the average permeability in the vertical

direction?

A) 3k units B) (5/3)k units

C)(5/6)k units D)(6/5)k units

Answer Key : B Your Response : B (Correct)
Question No. 27

forely aREIeT i fATor amTe & 3meeeT # A gl §1

A)faswedr 7 & gafr B)39aUT UG 3G g8 oldld

C)%# g AT T« Fera D)SHeR I oITeT

A project construction cost estimate includes the-

A)All of the options B) Equipment and over head cost

C)Labour and material cost D)Profit of the contractor Top
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Answer Key : A Your Response : A (Correct)

Question No. 28

vgfaarh Rgia gauas # Oer T ar A

A)FaeY diethre B)3call APR & WIEUT W IAST TUH ARSI
TFAeTT
C)fag=r gFae D)g2dl RI@x &A= (The Earth Summit)

The precautionary principle was first introduced in-

A)Kyoto protocol B) The First International Conference on Protection of
the North Sea

C)Vienna convention D)The Earth Summit

Answer Key : B Your Response : D (Wrong)

Question No. 29
ST @ FleT W gl Fr FARY FIRCAT Y g FA A WHwaAT 872
A)UTST FT 3EeT=T B) faedcsT ufshar
C)TeT 3UaIR D) 3iterse gfshar

Which of the following is the process of removal of permanent hardness of water?

A)Boiling of water B)Filtration process
C)Lime treatment D)Zeolite process
Answer Key : D Your Response : D (Correct)

Question No. 30
AT & @ FlT A1 UKwd, R Aad Wi v3d (higher level protocol address) & fhfoiwer sicad wgd
(physical network address) & uRafda &t & AT IcagrR §2

A)RaE tgH RAlegae icihicr (RARP) B)JcET Wieisial (BOOTP)
C)ugq RedlegdaT Wiekhicl (ARP) D)3exaAcT shelel AT Wierhiel (ICMP)

Which of the following protocols is responsible for converting higher level protocol addresses to physical
network addresses?

A)Reverse Address Resolution Protocol (RARP) B)Bootstrap Protocol (BOOTP)
C)Address Resolution Protocol (ARP) D)Internet Control Message Protocol (ICMP)
Answer Key : C Your Response : Not Answered

Question No. 31

PElec _ FIHIT FT UFH 3GEI0T gl

A) 3/ (Non-magnetic) B)@iledsshra (Ferromagnetic)
C)9ferdeehIa (Diamagnetic) D)3ieTdsshra (Paramagnetic)
Cobalt is an example of a _____ material.

A)Non-magnetic B) Ferromagnetic
C)Diamagnetic D)Paramagnetic

Answer Key : B Your Response : Not Answered

Question No. 32
Iy dIEa & aI9A &, or 9% aadr &
A)fRATR & TR B)feHies W

Top


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

C)fgATsh & &% IW D)fg#Th & &A

Formation of snow occurs if the cloud temperature is:

A)Equal to the freezing point B) At the freezing point
C)Just above the freezing point D)Below the freezing point
Answer Key : D Your Response : A (Wrong)

Question No. 33
SRS 9 (carriage way) & 3Tacd g I 4T Fgl ST §?
A)FR Tellder B)shT3eT
C)dF=R D)3fste

The highest point on a carriage way is known as-

A)Super elevation B) Crown
C)Camber D)Gradient
Answer Key : B Your Response : B (Correct)

Question No. 34

Ase AT F v, g ¥ W Far e 2
A)drer B)dthe
C)arer D)

For night landing, the runway threshold lights are lighted-

A)Yellow B) White
C)Red D)Green
Answer Key : D Your Response : Not Answered

Question No. 35
1S9 $TZHTH UG WEIH 3USUIT (aids) FT =1 Fad]
A) T (FE TFARR) B)fawedl & & @sh
C)eFqoicH D)zrEaT 2

<

Name the drawing instruments and aids.

A)Set squares B) All of the options
C)Templates D)Drawing sheet
Answer Key : B Your Response : B (Correct)

Question No. 36

ST el Faut FUt Aefa@d # ¥ R @9 F v yge fRar siar @7

AR BT B)afeT dsfic
Cyfe et D)Afer B

For which of the following games is the "Indira Gandhi Gold Cup" awarded?

A)Women's hockey B) Women's badminton
C)Women's football D)Women's cricket
Answer Key : A Your Response : A (Correct)
Question No. 37 Top

qd Y W & T #R P el & Hdeli 617 & Fq7d Y i f@eigor A fifsw|
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A)6=PL3 / 34EI B)5=PL3 / 3EI
C)6=PL3 / 5EI D)5=PL3 / 365El

Find the deflection of the free end of a cantilever beam carrying a concentrated load P at the free end.

A)6=PL3 / 34EI B)6=PL3/ 3EI
C)5=PL3/ 5El D)6=PL3/ 365EI
Answer Key : B Your Response : B (Correct)

Question No. 38
EOT sheT &7 T 31w &2

A)gafdcs 3iategs gafeler B)Ug 31U 289

C)&dr 3iTerT sy D)3 AT HaEs & &

EOT crane means-

A)Electric Overhead Travelling B) End Open Type
C)Easy Operation Type D)Earth moving Overhand Truck type
Answer Key : A Your Response : A (Correct)

Question No. 39

SAFCle ST WeT EaRT fr 1§ A
A)sired ag B)aMesEreT
C)J. T D)J.J. UiHEeT

Electron was discoveredby _____
A)Neils Bohr B) Goldstein

C)J. Chadwick D)J.J. Thomson
Answer Key : D Your Response : D (Correct)

Question No. 40
afg ey s #F AdSifee S AeRT Jumelr 3udsy g §, o ifuret ¥ des arer 3RSt S #
HIET ™ F U Fg T 1 39T BFar Fiar 2
A)3ags &F B)aftcs &
C)aTeers (Sump) D)¥RS &&

In case public drainage system is not available in a locality, then the structure used to store waste water
from toilets is:

A)Overhead tank B) Septic Tank
C)Sump D)Storage Tank
Answer Key : B Your Response : B (Correct)

Question No. 41
gt #r garT fr gar$ SR IS Tl Tt H T R F e e F AT sy oty
qd8ToT (triaxial test) o1 ¥ iy AT &7
A)CU udrayor B)3ishdlloIaes 38 ¢¥C
C)UU wdraror D)CD udafor

Which of the following is the appropriate triaxial test to assess the immediate stability of an unloadingp
problem, such as an excavation of a clay slope?
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A)CU test B) Unconsolidated drained test
C)UU test D)CD test
Answer Key : C Your Response : A (Wrong)

Question No. 42

TS A 10010 FF 1- [H gl
A)01101 B)01111
C)11101 D)10101

The 1's complement of binary number 10010 is-

A)01101 B)01111
C)11101 D)10101
Answer Key : A Your Response : A (Correct)

Question No. 43
T Fousia Rjaw' e A«/T Srar g2
A)17 & B)10 AT
C)5 &/ D)3 &ART

When is 'World Wildlife Day' observed?

A)17 March B) 10 March
C)5 March D)3 March
Answer Key : D Your Response : Not Answered

Question No. 44
fAEY 1 ag U1, Swr aoiF & S o AT S W HTAA H Foll giell &, 3/ A1 Fgl e g2
A)TRET &1 Téretor B)fAET & Fdiggar
C)f&gr &1 gdisa @z D) 7 URTAF TEoT

The property of the soil due to which a decrease in volume occurs under compressive force is known as -

A)Consolidation of soil B) Compressibility of soil
C)Compression strength of soil D)Initial consolidation of sail
Answer Key : B Your Response : B (Correct)

Question No. 45
e 3w aXer fagAsT (rapid curing cutbacks bitumen) & 360° C % e § WIS GRS HI HeFar

A (penetration value) & & g gl
A)80 & 120 B)30 & 120
C)40 & 80 D)100 @ 160

The penetration value of residue from distillation upto 360°C of rapid curing cutbacks bitumen is -

A)80to 120 B)30to 120
C)40 to 80 D)100 to 160
Answer Key : A Your Response : Not Answered

Question No. 46
FhIC & Heerel o qdEmor &, A duew AW 0.85 ¥ 30w AR 0.95 ¥ FH Wed @ar § o FHEdar
(workabilty) T eI gl
A)TES JreaT B) wafieT

Top
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C)Aeas D)3resT

In a compaction factor test of concrete, if the compaction value is less than 0.95 and greater than 0.85, then
the standard of the workabilty is:

A)Very good B) Fair
C)Medium D)Good
Answer Key : C Your Response : C (Correct)

Question No. 47

$19 @ FlT T 1987 F ST WA A GI&T 8 IHRTSET MNerwier g2

AT ST B)FTeiotT Sietse
C)FaeY St D)Affeearer dietler

The international protocol to protect the ozone layer in 1987 was-

A)Vienna Convention B) Cartagena protocol
C)Kyoto protocol D)Montreal Protocol
Answer Key : D Your Response : D (Correct)

Question No. 48

e |IST I WE T AT 87
A)N82C03.H20 B)Na2003
C)NaCO3.6H0 D)Na,CO3.10H,0

What is the correct formula of washing soda?

A) Na,C03.H,0 B) Na,;CO3
C)N62C03.6H20 D)N62C03.10H20
Answer Key : D Your Response : Not Answered

Question No. 49

UG FT AFS T §7?
A)m /s B)#IS A el
C)m! D)3rieex

What is the unit of refractive index?

A)m /s B)No unit
C)m” D)Dioptre
Answer Key : B Your Response : B (Correct)

Question No. 50
230 x 400 AH HHR arel TF HRAR fIF FT FAIX T (clear span) 2.5 #Hiex § 3T I 400 x 400
Aer & w91 ggrT gAfT §) Feelar #1 v ®Wa = @eme?
A)2.7 #eX B)3.3 #iex
C)2.615 #Hex D)2.9 #Hiex

A cantilever beam of size 230 x 400 mm has a clear span of 2.5 m and is supported on a 400 x 400 mm
column. The effective span of the cantilever is-

A)2.7m B)3.3m
C)2.615m D)29m

Top
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Answer Key : A Your Response : A (Correct)

Question No. 51

wie I & seateR 4 gu a7 & v, daa w1 e oty fer ¥ forw wEr @l afevl
A)180 t B)85 t
C)250 t D)200 t

For a vertical stiffened web of a plate girder, the lesser clear dimension of the panel should not exceed:

A)180t B)85t
C)250t D)200 t
Answer Key : A Your Response : A (Correct)

Question No. 52
soel &7 faeSTer R af & ey gam am?
A)1905 B)1904
C)1902 D)1903

When did the partition of Bengal come into effect?

A)1905 B)1904
C)1902 D)1903
Answer Key : A Your Response : A (Correct)

Question No. 53

Tal (trusses) & ofist Fr A arelr Y, FHgeral gl
A)THS oS B)Ret argeT
C)eia st D)di& oISt

A line joining the vertices of the trusses is called-

A)Sky line B)Ridge line
C)Top line D)Peak line
Answer Key : B Your Response : B (Correct)

Question No. 54

o] FFafeaat § Aref SAGRAT & T Y gl I gl

A)URBS-FC (I1 caRd) HeUra (Acid-test (or quick) B)¥UT 3ieIdrel (Debts ratio)
ratio)

C)dref 34t (Current ratio) D)cReldr 3s14rd (Liquidity ratio)

The ratio of current assets to current liabilities is known as:

A)Acid-test (or quick) ratio B) Debts ratio
C)Current ratio D)Liquidity ratio
Answer Key : C Your Response : Not Answered

Question No. 55

Hdrsadar(Compressibility) & YA B
A)IRIRTAT & 33Tde Adie (Bulk modulus of B)TcaRYIaT & Todr &AM (Rigidity Modulus  of
elasticity) elasticity)

C)JcaRYdl & 39¥90T AMME (Shear modulus of D)IT e dr A (Young's modulus of elasticit-yz)p

elasticity)
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Compressibility is the reciprocal of -

A)Bulk modulus of elasticity B) Rigidity Modulus of elasticity
C)Shear modulus of elasticity D)Young's modulus of elasticity
Answer Key : A Your Response : A (Correct)

Question No. 56
e ar ofSir (edging) # aviorer F e ¥ ek fhe a1w et ' . w1 ST 82
A)STer AT (Water proofing) B)STeifaramas &g (Weep hole)
C)faX & &g (Edge hole) D)% (Hole)

The rain waterholes in the parapet or in edging is called as-

A)Water proofing B)Weep hole
C)Edge hole D)Hole
Answer Key : B Your Response : B (Correct)

Question No. 57
A& (Triad) &1 @ fras @rT @ = ar?
A)SiieT FgeisH B) &I kel
C)D.l. #Hzcha D)J.W. SRR

The Law of Triad was given by-

A)John Newlands B)Henry Moseley
C)D.I. Mendeleev D)J.W. Dobereiner
Answer Key : D Your Response : D (Correct)

Question No. 58

ARl # & Fia a1 W-arRy aiveaw 78 87
A)McAfee B) 3Rl
C)FHERTHT D)aATeA

Which of the following is NOT an anti-virus software?

A)McAfee B)Oracle
C)Kaspersky D)Norton
Answer Key : B Your Response : B (Correct)

Question No. 59

gg iy, Ot AR #r ve el & Arews & varfed fRar siar § 3R aREfad &9 & 3T 997 F WY ddE

W T fFar S g, ___ geat gl
A)BEHT B)arfaiferar
C)ahshIfear D)erTEe

A method in which mortar conveyed through a hose and pneumatically projected
at a high velocity onto a surface is called-

A)Ferrocement B) Varnishing
C)Concreting D)Gunite
Answer Key : D Your Response : D (Correct)

T
Question No. 60 op
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0 & 59 &9 # FRUYC TRAT F AT € R Srar 82
A)9ar gar &l B)fasredl & & st
C)earst 3R 3=g G TUE & WI-A1Y ARt D)sRTAS, e AR & &l

Which of the following areas is/are NOT included in the Carpet area?

A)Entrance gate B) All of the options
C) The walls along with doors and other openings D)Verandah, corridor and passage
Answer Key : B Your Response : B (Correct)

Question No. 61
frareh tor Pefaf@d #F & fF @ @ d9ftT &2
A)STEhesior B)aNe®h
C)fsrehe D)%esre

With which of the following sports is Mithali Raj associated?

A)Basketball B) Golf
C)Cricket D)Football
Answer Key : C Your Response : C (Correct)

Question No. 62
@ wfasfad Fie 7, 39 A5 dHhie T 39ART F=4T R Srar 32
A)faF T ddfTerdT arer dshle 9Ted T & fow B)fete=T shIT 9red adet & forw
C)3Td $IRAT dTell Fhshle ol el o fow D)qd wfdsafad gifar &t fdifd et & faw

In pre-stressed concrete, high grade concrete is used for -

A)Having concrete of low ductility B)Having Low creep
C)Having concrete of high brittleness D)Controlling the pre-stress loss
Answer Key : B Your Response : B (Correct)

Question No. 63

FeT 14 A FE 9K F RfE0T 3cafd ar 272
A)ser B) 376l
C)3TaT D)fdshedr 7 & @l

Which type of radiation is emitted from Carbon 14?

A)Beta B)Alpha
C)Gamma D)AIl of the options
Answer Key : A Your Response : Not Answered

Question No. 64

2019 #, RBI @ SRPHi #T YR fram, ST qUT &9 T 8?2

AT 3T Reo ddie RET 31w sf3ar B)&d 3T & Y3 gfaeereT 3w gfsar
Cc)ad 3t Rea e gfoeyw 3w sfieaw D)&d 3 Rewr 9die gfoew 30w safassew

In 2019, RBI launched SRPHi, which stands for:
A)Survey on Retail Payment History of India B) Survey on Rural Poor Habitation of India
C)Survey on Retail Payment Habits of Indians D)Survey on Retail Payment Habits of Individuals Top

Answer Key : D Your Response : Not Answered
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Question No. 65
g 3 Al 97 I« S FEAEIRE IR FRET T ¥ AfaReaddr # #lgg § 3R S B F W Ak PEw
HiSE 8 W 7T T F A H AT ST Fehll §, 3H FIT gl Sl §7
A) TSI STel B)HeFd STel
C)®raReT arex D)& T STer

The water in the soil which is in excess of the hygroscopic and capillary water and which can move freely
downwards when the soil is porous and drainage available is called-

A)Hygrosopic water B) Free water
C)Firing water D)Capillary water
Answer Key : B Your Response : B (Correct)

Question No. 66

HEeTcHs faeaor & gy 3mepr faeRor fRAfEr (moment distribution method) @t T HEA AT ST
T Bl

A)faramae fafer (Displacement method) B)zars fafer (Unit method)

C)si=gar faf¥r (Flexibility method) D)se faf&r (Force method)

The moment distribution method in structural analysis is also called as-

A)Displacement method B) Unit method
C)Flexibility method D)Force method
Answer Key : A Your Response : A (Correct)

Question No. 67

fArfaf@a # & e 3T 39 97 forEa & faw fRar Sirar &2
AYHTTP B)HTML
C)FTP D)URL

Which of the following is used to write web pages?

AHTTP B)HTML
C) FTP D) URL
Answer Key : B Your Response : B (Correct)

Question No. 68

3R 3T T 3YANT IEAY HEAT YRl H @ar §l

A3, 4 B)1, 2

c)o, 1 D)0, 9

The digits used in a binary number systemare __and ___.

A)3, 4 B)1,2

C)0,1 D)0, 9

Answer Key : C Your Response : C (Correct)
Question No. 69

WIS TeleT I yeiia far smeem|

A)dATT FT IFR TF TS B)&RYT wRAT

C)fT #r Fars D)Rser siaer &1 oieS

Top
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Foundation plan will show -

A)Size and depth of foundation B) Carpet area
C)Height of foundation D)Length of plinth level
Answer Key : A Your Response : D (Wrong)

Question No. 70
3R e, Ay dr sufPufa & Fffhar =& FElfas s s §)
A)FIeT AAITFESS B)fa@eul & & @sh
C)&IeT SE3TFAES D)TesT

and water in the air react together to form carbonic acid.

A)Carbon monoxide B) All of the options
C)Carbon dioxide D)Carbon
Answer Key : C Your Response : Not Answered

Question No. 71

9 & 5 YR fr od & Q& st 7 o g & 3R vAF e F e F vF 9% Aar 82
A)dFsa 6 B)HHS &F
C)ffa ¥% D)deer ¥

Which of the following is the type of roof which slopes in two directions with a break in the slope on each

side?

A)Gambrel roof B)Mansard roof

C)Hip roof D)Gable roof

Answer Key : A Your Response : Not Answered
Question No. 72

ARl & & @ FuaT 1 99T

A)gNRer dcuarer, 3 O desienl &1 Teh B)fawedl & & @siy
UHT GG &, S S o3t A Tl T £l

C)gafaaRer 3rfegaedr, e Hvia-ggrae 3uaor g, D)ZshfaaRer srdcuarar & @@ & fou, aafFa &
Sa% ganr et Afr & waife Feedr Afr & Ao eecEer 3R Jdcaaer H Aeed FTUROmAT
& H AT ST HT gefiehe] A A [ETH gl AR

Pick up the correct statement from the following.

A)Engineering economy is a collection of B)All of the options
mathematical techniques which simplify economic
comparisons

C)Engineering economy is a decision assistance tool D)For understanding the engineering economy, one
by which one method will be chosen as the most  should be able to classify the basic terminology and
economical one fundamental concepts of economy

Answer Key : B Your Response : B (Correct)

Question No. 73
g & fRd 2004 # qteRoT HETOT F AR % AT Ao «ifd qRER ¥ wEAAa R @ ar
A)TasT eTeT B) @Y HUTS
C)S.D. §r D)3T. AdART &g
Top
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The Nobel Peace prize for contribution towards environmental conservation in 2004 was awarded to-

A)Ratan Tata B) Wangari Maathai
C)S.D. Bush D)Dr. Manmohan Singh
Answer Key : B Your Response : Not Answered

Question No. 74

Wt Rsr F s Roaw #r ify R T B
A)TaifEearsst B)TaR wefqr wale
C)Rerst D)

Gypsum used in cement manufacturing acts as a/an-

A)Plasticizer B) Air entraining agent
C)Retarder D)Accelerator
Answer Key : C Your Response : C (Correct)

Question No. 75
Y YR & TR esed (Glazed tiles) AT et & 39T # BT AeRIe (Facing material)
& T F Ac I Fhe a1 ow I F v B s @
A)FSS IT Fhre ke s & ary fow Hier B)fsieh S 3712eR A
C)EH Tead AFaAY D)sT, oS IT shehic IfhHaT RS & T ThT BiAT

Special types of glazed tiles or bricks are used as facing material for the rubble or concrete or brick backing
in-

A)Brick facing with Rubble or Concrete backing B)Brick backed Ashlar masonry

masonry

C)Random Rubble masonry D)Stone facing with Brick, Rubble or Concrete backing
masonry

Answer Key : A Your Response : Not Answered

Question No. 76
TR fAdSeT (town planning) 3 Fl ¥ T FRE FT FATIH AT 7 @ ST ART?
A)eTaraTehT B) el fa¥ehrd Ud @iEepicieh faRmeeT
C)3-aTRTEfIr (Ecology of land) D)o TaRIHATT

The main factor to be considered first in town planning is-

A)Topography B) Governing body and cultural heritage
C)Ecology of land D)Society needs
Answer Key : A Your Response : D (Wrong)

Question No. 77

R 9GI & Ui GHAT & d9AT & Tk Bl TE9E 9o & AT 3aeds FSAT fr AT Y R Far

ST &2
A)faflse FsaAT (Specific Heat) B)drd™ w&R (Thermal expansion)
C)ardrr gfade (Temperature stress) D)STerdistsl F%AT (Heat of hydration)

The quantity of heat required to raise the temperature of unit mass of a material by one degree centigrade is

called-

A)Specific Heat B) Thermal expansion Top
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C) Temperature stress D)Heat of hydration

Answer Key : A Your Response : A (Correct)

Question No. 78

e &l Sraemsit F v w3, Y & wer F Rer AT 3R TemaR IR TeR arelr EEest Fr R wer

ST 82
A)fEerawra (Slipform) B)fAareT 7 (Myvan form)
C)di¥c WA (Lost forms) D)gZer &9 (Tunnel form)

The special formwork without support from ground, used for constructing tall structures and which moves
up continuously is called as-

A)Slipform B) Myvan form
C)Lost forms D) Tunnel form
Answer Key : A Your Response : Not Answered

Question No. 79
fay 3ieifs g Yo 2019 1 Se@re Fgl gam AT?
A)grEar (Tokyo) B) e
C)as feeelr D)3 el

Where were the Special Olympics World Games 2019 inaugurated?

A)Tokyo B) Shanghai
C)New Delhi D)Abu Dhabi
Answer Key : D Your Response : D (Correct)

Question No. 80
FROATRCAZR fFa aRerear garT Fhie & s#E (Slump) # i Far 82
A)HiHT HUTt 1 Gefrerae B)@#e & Uil HT g1
C)¥iHe uil & aRetqur 3K 30T (deflocculation)  D)HIHE Uil &l &S el

Superplasticizer increases slump of concrete due to which phenomenon?
A)Densification of cement particles B) Drying of cement particles
C)Dispersion and deflocculation of cement particles D)Deterioration of cement particles

Answer Key : C Your Response : C (Correct)

Question No. 81

SR gl foh & @ Feifa €2
INICECTI B)dfecT
C)wfia DEGET

With which of the following fields is Zakir Hussain associated?

A)Painting B) Literature
C)Music D)Sculpture
Answer Key : C Your Response : C (Correct)

Question No. 82
& gole W FFAH FIETOT FH ARG 90T HAlS[g 8 FFherr &
A)ATIES & I Gaehid gerdt i suiedfcr B)deshid g$ I aTelcl olafeiar
Ol (Pivot) R g§ & afor D)TE & goehed HT gy

Top
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Local attraction in compass surveying may exist due to-
A)Presence of magnetic substances near the B)Incorrect levelling of the magnetic needle

instrument
C)Friction of the needle at the pivot D)Loss of magnetism of the needle
Answer Key : A Your Response : A (Correct)
Question No. 83
el 3rrex & Pt Fr ShEar gl
A)T-TFaRR 3R dT Toad B)fsarssx 3k Fur
C)Shaehd 31 urdfeher D) asedr 7 & @l

Mini drafter combines the functions of-

A)T-square and Set squares B) Divider and Compass
C)FrenchCurve and Procircle D)All of the options
Answer Key : D Your Response : B (Wrong)

Question No. 84

g ¥ P & R F DU g o sur T8 32
A)STS TS ithar B)wels atel
C)3taRiersT §f8sT (Detention basins) D)3=1d<1 (Elevation)

Which of the following is NOT a flood proofing measure for houses?

A)Dry flood proofing B) Flood walls
C)Detention basins D)Elevation
Answer Key : C Your Response : D (Wrong)

Question No. 85
s R Fof-deTe (aggregate cement) Ul & fav, I} Wwer sol-dRie @Rfe o @ R ST
wﬁgh#mwmmmmaamtg«qmmwwmm
A)ge STTeT B)3ed RHI T Ao X §
C)3mfkafda wem D)dg Sireem

For a constant aggregate cement ratio, if the coarse aggregate is increased at the expense of sand,
maintaining total aggregate cement ratio constant, then the total surface area of the aggregate is -

A)Reduced B) Depends on Other factor
C)Remains Unchanged D)Increased
Answer Key : A Your Response : A (Correct)

Question No. 86

M RS & AR & IHeFT-3edT PR agdd Aoiqrh @, af 3e¢ & &9 # 9Rafda frar ser =ifee
A T B)&T Wi
C)fegT Ywe D)#arss picer

If two individual footings are too close as per design, then they should be converted as-

A)Mat raft B) Strap footing

C) Strip raft D)Combined footing

Answer Key : D Your Response : D (Correct) Top
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Question No. 87
ICAO #r pRiwmait F AR, MSL & 3 ffyd W F fAT 3w14eT UK (elevation correction) #r &I T
Y4
AIMSL & IR YT 3eargad &7 gfad 300 HeX Fa15 B)MSL & IR YT 3eaga Hr gfad 100 #Hex &
R 2% FE W 1%
C)MSL & 3R YA 3eaAaa Fr ufad 500 #Hex Fa§ D)MSL & IR ud 3ea1gar Fr gfad 300 Hex 45
T 2% R 7%

According to ICAO recommendations, what is the rate of elevation correction for the runway above MSL?

A)2% for every 300 m of elevation above MSL B) 1% for every 100 m of elevation above MSL
C)2% for every 500 m of elevation above MSL D)7% of every 300 m of elevation above MSL
Answer Key : D Your Response : D (Correct)

Question No. 88
hg-Thied AR & HNT T L arel o FUROT FARIT 17 H1 FAT {@9or 24 B g1 o sxder fRegait
(supports) WX EdT AT HfATI
A)(48/L) YTt B)(36/L) ¥f3aa
C)(24/L) 3=t D)(72/L) ¥f3a=T

In a simply supported beam of span L subjected to central concentrated load, the central deflection is 24
mm. Then the slope at supports is:

A)(48/L) radians B)(36/L) radians
C)(24/L) radians D)(72/L) radians
Answer Key : D Your Response : D (Correct)

Question No. 89

e faRawor st ¥ R Ui = F Aeg war &2

A)wH Fr facd Rufa B)w# T aRaree gatdr 3R & & Aeda ufa a=r
C)®a &I qRarersT gafar D) ar % &I gRaEree gardr 3R 7 & wa @ e
feafa

The financial analysis helps to judge:

A)The financial position of the firm B)Both the operational efficiency of the firm and the
financial position of the firm

C) The operational efficiency of the firm D)Neither operational efficiency of the firm nor
financial position of the firm

Answer Key : B Your Response : B (Correct)

Question No. 90
Sta fafauar glewgic i 3@UROT & yfaues Sl &2
A) Tt sreed B)dred sSridsT
C)AtH=T aArIw D)fsheeit fRacer

Who introduced the concept of biodiversity hotspot?
A)Christopher Columbus B) Charles Darwin
C)Norman Myers D)Christoph Schwitzer

Answer Key : C Your Response : Not Answered Top
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Question No. 91
ToeTma, T, s, wader 3R I AR R TS § @R Sgdr 87
A)STFH Tg HFHR B)goTTe

C)RAre weer D)gRarom

Through which state do the rivers Chenab, Ravi, Beas, Sutlej and Yamuna flow?

A)Jammu & Kashmir B) Punjab
C)Himachal Pradesh D)Haryana
Answer Key : C Your Response : C (Correct)

Question No. 92
aYor I Ioig ¥ TFT A g arelr M g Hr T FEF g@nr v S 2
A)srdt @1 e B)srif-distash THaUT (Darcy-Weisbach equation)
C)atr gifa D)3l FT e

The loss of head in pipe due to friction is calculated by-

A)Darcy's law B) Darcy—Weisbach equation
C)Energy loss D)Chezy's law
Answer Key : B Your Response : B (Correct)

Question No. 93

$o ¥ R AT FT TOS FAEOT AR 2019 & AN $RA F Falftsh e MW & § & [

ITT?
AYFHETT B)zalk
C)3rgAcTeTe D) 3ifashrax

To which of the following cities was Swachh Survekshan Award 2019 for India's cleanest city given?

A)Mysore B)Indore
C)Ahmedabad D) Ambikapur
Answer Key : B Your Response : B (Correct)

Question No. 94
Sehel MO & HRUT Sceat GGl T AT FgT ST 82
A)39&quT gfdae (Shear stress) B)@dis gfdael (Compressive stress)
C)31sTd =T ufaser (Flexural stress) D)d=aar gfdsel (Tensile stress)

The stresses caused by the bending moment is called -

A)Shear stress B) Compressive stress
C)Flexural stress D)Tensile stress
Answer Key : C Your Response : C (Correct)

Question No. 95
RS 1 39T 399 ¥ Fasd A & v frar sar 87
AT B) AT
C)3ier (Odour) D)&oRaT

Tintometer is used to measure- Top

A)Colour B) Temperature
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C)Odour D)Hardness

Answer Key : A Your Response : A (Correct)

Question No. 96

fRefaf@a & ¥ i a1 3P (estimate) TaTAF ARawaTr &ar &2
A)TaEdT 3Tehere (Detailed estimate) B)TeY &athel T 3Tehelel (Plinth area estimate)
C)ge &Y 3iTeheldd (Cube rate estimate) D)IRTA® 3iehelel (Preliminary estimate)

Which of the following is the most reliable estimate?

A)Detailed estimate B) Plinth area estimate
C)Cube rate estimate D)Preliminary estimate
Answer Key : A Your Response : A (Correct)

Question No. 97
Al Y fRT gt v & Wi & AT Fifaw s 160 kN @1 IR FAT T3 A 3G AN oars & R
3T TAH & AT yaher BFar Sier §, O wifas AR fBRaer gem?
A)80 kN B)320 kN
C)160 kN D)40 kN

The critical load for a long column with both ends fixed is 160 kN. If the same section is to be used for
another column of double the length, the critical load is:

A)80 kN B)320 kN
C)160 kN D)40 kN
Answer Key : D Your Response : D (Correct)

Question No. 98

ATt fA#or $hfaafer #, HVA a3 & QU a1 =7 82

A)gTE fAFT VWThice TdiT B)gic fAed Whiec Tolic
C)ele e vsfAeaax D)glc fAed waiic caic

In Highway Construction engineering, the equipment HMA means -

A)Hard Mix Asphalt Plant B) Hot Mix Asphalt Plant
C)Hot Mix Admixture D)Hot Mix Aggregate Plant
Answer Key : B Your Response : D (Wrong)

Question No. 99

& 715 3T ¥ 39 g Fr qft, OF W AFr F qof fawa Fr FRa AT J1ar 8, 3§ R FT AT 872
A)ufkeaor 53T (Radius of gyration) B)&fachar sisca 3mget (Second moment of area)
C)T8cd 3guT (Moment of inertia) D)geaATT STscd HTYUT (Mass moment of inertia)

The distance of a point where the whole area of a body is assumed to be concentrated from a given axis is

called-

A)Radius of gyration B) Second moment of area
C)Moment of inertia D)Mass moment of inertia
Answer Key : A Your Response : A (Correct)

Question No. 100
oS a $r oar$ (field runway length) @ ICAO Rafader & 3[R, ¢& 3% I (take off run) +
F @ F ST AT g
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A)LDA B)TODA
C)TORA D)ASDA

According to the ICAO specification for field runway length, take off run available is known as-

A)LDA B) TODA
C)TORA D)ASDA
Answer Key : C Your Response : Not Answered

Question No. 101

gegdAT (m) 3R S () aTel TF AR gde Uh ©F H S a1$ F daad forr F swh #ew g & Ant

3R AT 3T AT AT Hifre]
A)2/3 ml? B)mi2/12
C)mI%/3 D)3/4 mi2

Mass moment of inertia of a uniform thin rod of mass (m) and length (I) about its mid-point and
perpendicular to its length is-

A)2/3 mi? B)mI?/12
C)mi%/3 D)3/4 ml?
Answer Key : B Your Response : Not Answered

Question No. 102

e & AF, garT St Sl g
A) 3TSSTTS JTHIOT B)fa¥he 3uator
C)el-shefork 3uaheor D)8 3Uah0T

Soundness of cement is tested by-

A)lzod apparatus B) Vicat apparatus
C)Le-chatelier apparatus D)Hopper apparatus
Answer Key : C Your Response : C (Correct)

Question No. 103
RE dTel &I QI o1 T 872
A)I=HRS 3 gt B 3 arer
C)Racae 7Y ara D)RefAeT 377 arer

RE wall means -

A)Reinforced Earth Wall B) Resistant Earth Wall
C)Revetment Earth Wall D)Retaining Earth Wall
Answer Key : A Your Response : D (Wrong)

Question No. 104

A2 & s ds YUY Fa 3cueT o &2
AT &Y AT & yaTg & FHROT &5 U AT g B)F9 Udlg & FRUT 83 d¢ ST ¢l
C)39I Yalg & HRUT g8 TT ATl gl D)y fr = & YT & FHROUT 85 ¢ ST ¢l

When does a quick sand condition is developed in soil?

A)Head causing downward flow is decreased B)Head causing upward flow is increased Top

C)Head causing upward flow is decreased D)Head causing downward flow is increased
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Answer Key : B Your Response : C (Wrong)

Question No. 105
, Y AT & ST & ST AT YS9 FHERT T fr ufhAr gl
A)dsgfaiaT B)TeifEar
C)&siar D)carfeiar

is the process of inviting bids or proposal in response to an invitation.

A)Scheduling B) Starting
C)Tendering D)Planning
Answer Key : C Your Response : C (Correct)

Question No. 106

6 e x 4 AT F IAAHR NS 34K 4 HAex x 2 AT $ir T a 6 HeX /Y EF F I3IFAA AT AHT

(Rromefir g7 7 39T F& 0T W)?
A)92 FHrex 3 B)96 #rex 3
C)90 #Hrex 3 D)94 #rex 3

What is the volume of a 6 m deep tank having rectangular shaped top 6 m x 4 m and bottom 4 m x 2m

(computed through the use of prismoidal formula)?

A)92 m? B)96 m®
C)90 m® D)94 m?
Answer Key : A Your Response : B (Wrong)

Question No. 107
RTHT & 3TGRT o & RESAT sl & i 7 Felel T Fa & faw fBFar s g
A)sish (Break) B)®aa (Switch)

C)aMe (Goto) D)&fe=g_(Continue)

The statement is used to transfer the control to the end of statement block in a loop.
A)Break B) Switch

C)Goto D)Continue

Answer Key : A Your Response : Not Answered

Question No. 108

frafaf@a & & fFw arg & Al F1 3wer WQ@a-eamT wreRmdr F B Srar 82

Compounds of which of the following metals is used in black and white photography?

A)A B)Ag
C)Cu D)Au
Answer Key : B Your Response : Not Answered

Question No. 109
THHAT T (uniform settlement) & S 8 a18T 3T 9T 3cUesT loT ATelT GIR I AT gl ST 82

A)TIT9A IR (Settlement crack) B)3feétd &IX (Longitudinal crack)
C)319®90T &IR (Shear crack) D)arefeae IR (Random Crack)

Top
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If there is any obstruction to the uniform settlement of hardened concrete, it forms a crack known as-

A)Settlement crack B) Longitudinal crack
C)Shear crack D)Random crack
Answer Key : A Your Response : A (Correct)

Question No. 110
frfafad Fet W AR F¥ 3R 78 Reew & 99 FY : vF Fad o9 F AL’ HeR (support) ¥ FEe
¥ () ¥R (support) IT TR aTell HOMcHF MYl FH & AT gl (i) WER T W1 alell HOMcHF YT 96
ST 1 (jii) R W T T eAlcAS YT FA @ ST ¥ (V) BT F Hg F 0 aem Geens gt 95

ST B
A)ii 3R i @gr & B)ii 3 iv @@r g1
C)i 3R iii TEr g1 D)i 3R iv @Er €1

Consider the following statements:

Sinking of an intermediate support of a continuous beam
(i) reduces the negative moment at support.

(ii) increases the negative moment at support.

(iii) reduces the positive moment at support.

(iv) increases the positive moment at the center of span.

Of these statements:

A)(ii) and (iii) are correct B) (ii) and (iv) are correct
C)(i) and (iii) are correct D)(i) and (iv) are correct
Answer Key : D Your Response : D (Correct)

Question No. 111

ada &7 FT Feavor EaRT fRaT ST FehaT &1
A)3-3meeT S B)&elteT fagigur fafer
C)3meot faeror fafer D)fawedt & & @sh

Analysis of continuous beam can be done by-

A) Three Moment Theorem B) Slope Deflection Method
C)Moment Distribution Method D)AIl of the options
Answer Key : D Your Response : D (Correct)

Question No. 112

afte @, TRV Jpfa arer Ooif, geiagiieg Uesl 3 & el Hfod Tga ae T=! A T6E F fow fher

Tt 1 39T AT ST 82
AYRTHeT 33T (Ultrasonic waves) B)3194ed ddr (Infrasonic waves)
C)asdifisdh aidT (Subsonic waves) D)guR&ifaeh T (Supersonic waves)

Cleaning of hard to reach places inside a spiral tube, odd shaped parts, electronic components etc. is done

using which waves?

A)Ultrasonic waves B) Infrasonic waves
C)Subsonic waves D)Supersonic waves
Answer Key : A Your Response : Not Answered
Question No. 113 Top

a9 SaT &, 519 Q9d YHRT H TAF T DA 7 TF 3eler AT )W qafdd g gl
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A)EeFeH B)%er wfafse

C)&T 98’ D)oty

A is formed when each colour of the white light is refracted in the prism at a different angle.
A)Spectrum B) Colour image

C)Colour spread D)Rainbow

Answer Key : A Your Response : A (Correct)

Question No. 114
o fhel a&g A @R R S g, ar -
A)3F TT gAT Ueh T 1 T gl B)Tg g & fr 3R S &1
C)Tg A IR & AN e B D)JE A2 gt &1 3R e ¥

When an object undergoes acceleration-

A)A force always acts on it B) It always moves down
C)It always moves up D)t always falls towards the earth
Answer Key : A Your Response : A (Correct)

Question No. 115

AFLIS AR & 0.5 AT FT GIA AT
A)14 TR B)7 ar&
C)70 & D)21 T\

What is the mass of the 0.5 moles of Nitrogen atoms?

A)l4g B)74¢
C)70 g D)21g
Answer Key : B Your Response : B (Correct)

Question No. 116

famfaf@a F @ Fa fhee @ & 3dla 2019 7 AN fFde Faa (MCC) & ARG ohad 6T &
w7 # enfAer fFar s=m?

A)SSTATA-3e-gh AR ATh I3 glar B)ATeh aT3aX

C)fatre wigel D)SSTHIH-3-8F

Which of the following cricketers was/were inducted as the Honorary Life Members of the Marylebone
Cricket Club (MCC) in April, 2019?

A)Both Inzamam-ul-Haq and Mark Boucher B)Mark Boucher
C)Virat Kohli D)Inzamam-ul-Haq
Answer Key : A Your Response : Not Answered

Question No. 117

frafaf@a & & #la a1 seqe Bamsw yFmer F WdeaT T FFar g, 3R swH 3udr A B | i #it

3T Fer & v fRar sirar &7
A)erse 9T B)Tellex
C)AT3H D)sirafees

Which of the following is an input device which can sense light, and is used to point at spots on a Vid?8p
screen?
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A)Light pen B) Plotter
C)Mouse D)Joystick
Answer Key : A Your Response : A (Correct)

Question No. 118
g Wic 1 IRAF TUYT AT (setting time) 10 Bee §, ar s # et fmam T WeRe B
A)efrgr T HAT (Quick setting cement) B)@ethe YT HHT (Sulphate resisting cement)
C)did soRIeuT e (Rapid hardening cement) D)ot FsAT THC (Low heat cement)

If the initial setting time of cement is 10 minutes, it can be classified as -

A)Quick setting cement B) Sulphate resisting cement
C)Rapid hardening cement D)Low heat cement
Answer Key : A Your Response : C (Wrong)

Question No. 119

1 & 5 yR #7 fA-AFNeoT (land degradation) #IRa 7 310 @ar & AT 8?2
A)FHeT 39esT (Soil erosion) B)#ar 39uRT (Soil subsidence)
C)¥F@eleT (Landslide) D)ssX (Desertification)

Which of the following forms of land degradation is more prevalent in India?

A)Soil erosion B) Soil subsidence
C)Landslide D)Desertification
Answer Key : A Your Response : A (Correct)

Question No. 120

FE Yafad dshle d, I weaw 8% & 7T haar g, O IRUFRGET 3¢9 gl alell TATAT S AT Hgl

ST ¥7?
A)3c@sa (Spalling) B)g¥«IUT (Segregation)
C)&%ei= (Congestion) D)7[fershrai=l (Balling)

In fibre reinforced concrete, if the fibres are not dispersed properly, then the resulting problem is called as -

A)Spalling B) Segregation
C)Congestion D)Balling
Answer Key : D Your Response : C (Wrong)

Question No. 121

afger (fillet) Fr oy TS q FA gl TRl
A)des & HR & TR o1 B)dcs & 3MhR & Teh I
C)des & 3R & el I D)des & 3R & & I

The effective length of fillet should be less than-

A)Four times the size of weld B) One time the size of the weld
C) Three times the size of weld D)Two times the size of weld
Answer Key : A Your Response : A (Correct)

Question No. 122
&N & HUROT &7aT IOTF R W AR FRar 32
A)REY & THEYAT Ui 3R AL & Yk Gelcd W B)ADN & ashar quneh AR A F vy g i,
0T ]
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C)dae fAgr & ialke a¥or Hior W D)f#ET & 3idRe avor @or AR fig & M@ |

Terzaghi's bearing capacity factors depend on-
A)Uniformity coefficient of soil and dry density of soil B)Coefficient of curvature of soil and bulk density of

soil

C)Angle of internal friction of soil only D)Angle of internal friction of soil and depth of
foundation

Answer Key : C Your Response : C (Correct)

Question No. 123
deT & 31Nt BREY (member) T AT Tl ST &2
A)pfeaT (Footing) B)Told
C)¥a¥ (Column) D)&reT

The member which is subjected to bending is called-

A)Footing B)Slab
C)Column D)Beam
Answer Key : D Your Response : D (Correct)

Question No. 124

ﬁmﬁmﬁagmmm#mmmﬁaﬁmmﬁ gl ST gl
A)3EqUTcsT B)TgeleT
C)arsdisioT D)&HergeT (Fusion)

A change in state directly from solid to gas without changing into liquid state is called .

A)Sublimation B) Condensation
C)Vapourisation D)Fusion
Answer Key : A Your Response : A (Correct)

Question No. 125
3ifaw 9et & wHae # Ru v Afar Fr F=r Fer AT 82
AyFa sfder B)dTca olelol sifdar
C)efT orea sfdar D)qeer sfder

The bracing provided in the plane of end posts is called-

A)Sway bracing B) Bottom lateral bracing
C) Top lateral bracing D)Portal bracing
Answer Key : D Your Response : Not Answered

Question No. 126

rehsiwater @ (phreatic line) # Rl aitr & v @3 & i} Hisg 39 W@ & &9 F qRenRa fFr Jn g,

o Ry gl

A)FUTIcA® TATGHT os (Negative equipotential B)t=iicae grssiecfics &9 (Positive  hydrostatic
lines) pressure)

C)tiicHas® #HfIT WU (Positive equipotential D)FUTcAs glssefes & (Negative hydrostatic
lines) pressure)

Top
A phreatic line is defined as the line within a dam section below which there is/are-
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A)Negative equipotential lines B) Positive hydrostatic pressure
C)Positive equipotential lines D)Negative hydrostatic pressure
Answer Key : B Your Response : B (Correct)

Question No. 127
Fa AR AT, Bl ToAET IRy Fe F Q) geF §; O s & @ REeT 7 aaT
A)FET & 1 Fd IR PRt W) 2 Az B)&a 3R #Af3Ter & aufiertor & dafera @, Peury &
ey we A RRUfa & amuR W Al afew e
Ipia R 3meRa g §
C)peury & Al Al fFarl W & R peury f D)AfEIT vk i ued § AN Fd vw ued "ew §
aEy @ W1 AfsgeT

Kerb and median are two elements in a highway cross - section. Choose the correct match.
A)1 Kerb at the middle and 2 medians at the side B)Kerb and median classification names are not based

edges on position in pavement cross-section but based on
their shape
C)Kerb for both the side edges of the pavement and D)Median is a longitudinal element and kerb is a lateral
1 median at the centre line of the pavement element
Answer Key : C Your Response : C (Correct)

Question No. 128
YaIg Hicded WHIEIOT (equation of continuity) @ 8T g1
A)YaTg 3FeRad gl 0T B)fashedr 7 & @l
C)vdTg ThAHAT gl W] D)3IIEY WS W 9T ThHART gl W

The equation of continuity of flow is applicable when the-

A)Flow is steady B) All of the options
C)Flow is one dimensional D)Velocity is uniform over the cross section
Answer Key : B Your Response : A (Wrong)

Question No. 129

frmfaf@a & & fFa 3m3cye Barw 1 35T Fq & TFl A RAFHT §7 F FEer | e 7 &

fow fRar e &2
INER R B)Taliex
C)ca Tl D)EICIE]

Which of the following output devices is used for translating information from a computer into pictorial form

on paper?

A)Card punch B) Plotter

C)Touch panel D)Keyboard

Answer Key : B Your Response : B (Correct)

Question No. 130
faRrse Wiz Az et # I-amfier 3R e 1 reqara frdar gar 82
A)4 B)2
C)6 D)10

What is the ratio of back-washing of filtration in a typical rapid sand filter? Top
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A)4 B)2
C)6 D)10
Answer Key : C Your Response : A (Wrong)

Question No. 131

ARG ¥ fauraer fr Wfa Rufa & [e, Fhe AR gedeor W fr Basa T # 3o+ & e

IS 456: 2000 Z@RT HRIfAT HiRIF FIAT IOTH FHaA: eI gl
A)1.5 3R 1.15 B)1.0 3R 1.0
C)1.15 3R 1.5 D)1.5 3iX 1.0

For limit state of collapse, the partial safety factors recommended by IS 456:2000 for estimating the design

strength of concrete and reinforcing steel are respectively-

A)1.5and 1.15 B)1.0and 1.0
C)1.15and 1.5 D)1.5and 1.0
Answer Key : A Your Response : A (Correct)

Question No. 132

$HEI® AF (Imhoff cone) A F AT 39T FRAr S g
A)gfara a1 (Dissolved solids) B)dcd gl aTel 3 (Settleable solids)
C)faeifaa 3 (Suspended solids) D)&remssr o (Colloidal solids)

Imhoff cone is used to measure-

A)Dissolved solids B) Settleable solids
C)Suspended solids D)Colloidal solids
Answer Key : B Your Response : B (Correct)

Question No. 133
St ¥ FleT AT FAIET Q=TT (absolute viscosity) HR GEIHAT wetca (mass density) &7 [T 872
A)fafse earetar B) @&TeIcT J[0TIsh
C)RITeTclT Fhieh D)<rgetfdeh AT (Kinematic viscosity)

Which of the following is the ratio of absolute viscosity to mass density?

A)Specific viscosity B) Coefficient of viscosity
C)Viscosity index D)Kinematic viscosity
Answer Key : D Your Response : D (Correct)

Question No. 134
T aTr e dasit (ICDS) F Fr 377 §7?
A) ErRTeRIoT B)fasredr & & @afr
C)Tarey i g YWl T D)W-hor il -Wlae TS[ehelel

The objectives of the Integrated Child Development Services (ICDS) are-

A)Immunization B) All of the options
C)Health check up and referral services D)Pre-school non-formal education
Answer Key : B Your Response : Not Answered

Question No. 135
gfear fr gag Fr # AT Srar §1
A)esT B)3dT Hiex

Top
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C)a« HIex D)ge ®ie

The surface of painting is measured in -

A)Tonnes B)Sg.m
C)Cu.m D)Cu.ft
Answer Key : B Your Response : B (Correct)

Question No. 136

o #r RAffeT &t F Ranfoa & & Qv g W=ar # =1 Fgr Sar 82
A)Trer At T (Damp proof course) B)&d (Roof)
C)dl@e (Lintels) D)®T (Floor)

The structure which is used to divide the stages in different levels is termed as-

A)Damp proof course B) Roof
C)Lintels D)Floor
Answer Key : D Your Response : D (Correct)

Question No. 137

TR AT A TFe qEr & 3iafer I F iafker ImEr & 9
A)STHAT B)UK
C)SraTeT D)afaad @g

In which country's spacecraft did Rakesh Sharma travel into space?

A)Germany B) UK
C)Japan D)Soviet Union
Answer Key : D Your Response : D (Correct)

Question No. 138
INGES & 38 ¥ 59 O & starse g Sar 82
A)eTdel B)digRsTem
C)3rHelT D)ol & & Tefr

bl

In which of the following districts of Jharkhand is bauxite obtained?

A)Latehar B) Lohardaga
C)Gumla D)All of the options
Answer Key : D Your Response : D (Correct)

Question No. 139

S ¥ PleT AT FASAAT VT &2
A)dqufees B)BIY s
C)ugad D)gsr

Which of the following is a waterborne disease?

A)Tuberculosis B) Small pox
C)Anthrax D)Cholera
Answer Key : D Your Response : D (Correct)

Question No. 140 Top
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Fe + CuSO4 - FeSO4 + Cu

IR AT T TFH 3EE0T &l

A)3qgea 3fATHAT (Decomposition reaction) B)faTamusr 31f&fhar (Displacement reaction)

C)&arster 31fAfHAT (Combination reaction) D)gfa farurged HfATHAT  (Double  displacement
reaction)

Fe + CuSO,4 — FeSO4 + Cu

The above reaction is an example of a-

A)Decomposition reaction B) Displacement reaction

C)Combination reaction D)Double displacement reaction

Answer Key : B Your Response : B (Correct)

Question No. 141
e AT Ty IR R FART werd 8 FdT ARy fAgdier fr dear gkl g
A4 B)1
C)3 D)2

The number of independent elastic constants for a linear elastic isotropic and homogeneous material is-

A)4 B)1
C)3 D)2
Answer Key : D Your Response : D (Correct)

Question No. 142

qd wfaafee Fshie draamsit &1 qeT 3337 T §?

A)aats afaee IR Fer B)Sd # gl o awiet ufawelr H sufeafa nafaa e,
a6l ANSeT G o] kel
C)ufkargur (deflection) IR AT D)3ra%qur gfade 3T 1

What is the main principle of Prestressed Concrete Structures?

A)To introduce tensile stresses B)To introduce compressive stresses in the zone
wherever tensile stresses are expected

C)To introduce deflection D)To introduce shear stress

Answer Key : B Your Response : B (Correct)

Question No. 143

s e F | fr sfwaw dar eI 81
A)50 & 150 #Hex B)3 & 7.5 #iex
C)30 & 80 #Hrex D)18 & 30 #Hex

In a trussed bridge, the maximum limit of span is -

A)50 to 150 m B)3t07.5m
C)30to 80m D)18t0 30 m
Answer Key : C Your Response : C (Correct)

Question No. 144

Figrrorra? fdg, ag g e @ o W 39T RIeg Sgaar gl

AT et B) 39&T0T SoT Top
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C)fasredt & & @sh D)aiehel 31TEUT

The point of contraflexure is the point at which_______ changes its sign.
A)Torsional moment B) Shear force

C)All of the options D)Bending moment

Answer Key : D Your Response : D (Correct)

Question No. 145

Rae Bl & et & o Fr g & FH JAET gt TIigul
At & =am8 & 3 T B)f&al & e & 2.5 9«
C)fSal & =ar | & 2 I D)f&el & e & 3.5 9o

The distance between centres of rivert holes should not be less than -

A)3 times the diameter of the holes B)2.5 times the diameter of the holes
C)2 times the diameter of the holes D)3.5 times the diameter of the holes
Answer Key : B Your Response : B (Correct)

Question No. 146

3T ¥ vEw FHhie F FeA, e A AOEET F AT &
A)dgR B) &
C)fe=T D)uaTed

The vibrating of the concrete before grouting makes the quality of concrete -

A)Better B) Slow
C)Low D)Fair
Answer Key : A Your Response : A (Correct)

Question No. 147
gam3it @ WA A s @ fFEd @RT AT ST 82
A)argersATdr (Barometers) B)siwc ATIsh#A (Beaufort scale)
C)uasT gas (Wind indicator) D)féerHex (Tintometer)

The strength of winds is measured with the help of-

A)Barometers B)Beaufort scale
C)Wind indicator D) Tintometer
Answer Key : B Your Response : C (Wrong)

Question No. 148

ST R FT IHFRNT Fl &, 3 Shal & AT g e &
A)3ra3aFa foReont B) AT fReont
C)X-faoit D)TRTsT=AT fehott
Ozone layer absorbs which are very harmful for the living organisms.
A)Infrared rays B) Gamma rays
C)X rays D)Ultraviolet rays
Answer Key : D Your Response : D (Correct)
Question No. 149 Top

IS #5 & AR PCC 3R RCC wa=mit & fow =gsas I e &l
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A)swaer: M 10 3R M 20 B)seare: M 10 3iR M 15
C)sarer: M 15 3iR M 20 D)sar: M 20 3k M 30

The minimum grades for PCC and RCC structures as per IS code is:

A)M 10 and M 20 respectively B)M 10 and M 15 respectively
C)M 15 and M 20 respectively D)M 20 and M 30 respectively
Answer Key : C Your Response : A (Wrong)

Question No. 150

ffaf@a & d 98 FUT 7 99T FE)

A)faweat & & Tl B)ader 1 3ngfed 8¢aT (Hz) & A Sl &

C)3mgfea, Uw oS # wF ARad g & IoRe arell D)aier &1 3, 7Ly g ¥ 38 Ry & a8 g
e Rt fr T g g |

Pick up the correct statement from the following:

A)All of the options B) Frequency of a wave is measured in Hertz (Hz)

C)Frequency is the number of wave crests passing a D)Amplitude of a wave is the height of its crust from
fixed point in one second the mid-point

Answer Key : A Your Response : A (Correct)

Top
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